MARBO #4J SPORT




Stiickliste / Parts list / Seznam dila / Lista czesci / KomnnekTauus /

Liste de pieces

1 ASM-001706 2 ASM-001710 3 PRT-005425 4 PRT-005497 5 PRT-005424
X2 x2
6 PRT-005929 7 PRT-006018 8 9 PRT-005388 ‘| 0 PRT-005985
// ] /
{ —_—
X2 x2 x4 x4 x1
11 PRT-005708 12 PRT-001440 13 PRT-001942 14 PRT-000580 15 PRT-000573
x4 x4 x2 xé x16
16 D8 17 D10 18 M6 19 M8 20 M10
~ )‘ “~ )’
x16 x16 x4 x16 x14
21 M10-S 22 Mé x 20 23 M8 x 70 24 M10x 50 25 M10x75
O
‘
x2 x4 x16 x2 x2
26 M10 x 80
x12




Montageanleitung / Assembly / Montageanleitung / Montazni navod /
Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

ASM-001710

9 PRT-005388 x1
11 PRT-005708 x1
14 PRT-000580 X1
15 PRT-000573 x4
16 D8 x4
19 M8 x4
23 M8 x 70 x4




Montageanleitung / Assembly / Montageanleitung / Montazni navod /
Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

1 ASM-001706 x1
9 PRT-005388 x1
11 PRT-005708 x1
14 PRT-000580 x1
15 PRT-000573 x4
16 D8 x4
19 M8 x4
23 M8 x 70 x4




Montageanleitung / Assembly / Montageanleitung / Montazni navod /
Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

PRT-005425
PRT-005497

8 ASM-002098 X2

12| PRT-001440 émm X2

13 PRT-001942 x1

17 D10 X1

18 Mé X2 X

21 M10-S x1

22 Mé x 20 X2

24 M10 x 50 x1

25 M10x75 x1




Montageanleitung / Assembly / Montageanleitung / Montazni navod /
Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

PRT-005929
7 PRT-006018 X2
10 PRT-005985 x1
14 PRT-000580 X2
17 D10 X6
20 M10 X6
26 M10 x 80 x4




Montageanleitung / Assembly / Montageanleitung / Montazni navod /

Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

PRT-005424 x1
D10 x4
M10 x4

M10 x 80

x4




Montageanleitung / Assembly / Montageanleitung / Montazni navod /

Schemat montazu / UHcTpyKumua no MoHTaXxy / Instruction d‘installation

PRT-005424 X1
D10 x4
M10 x4

M10 x 80 x4




Warnung / Warnings / UpozornEni / Ostrzeznia / BHUMAHME /

Consignes De Sécurité

DE

Den richtigen Ort wihlen: Wihlen Sie einen Ort mit ausreichend Platz (A,B) und frei von Hindernissen. Uberpriifen Sie den Bereich auf Aste, Wande oder
andere Hindernisse, die die Bewegung der Schaukel behindern kénnten.

Entfernen Sie Steine, Aste, hervorstehende Elemente und andere potenzielle Gefahren aus dem Bereich, in dem der Rahmen platziert werden soll.
Untergrund: Der Untergrund sollte eben und stabil sein. Vermeiden Sie Bereiche mit Schlamm oder Unebenheiten, die die Stabilitat der Schaukel
beeintrdchtigen konnten. Im Bereich (A,D), wenn es nétig sein sollte, Fligen Sie eine Schicht stoRdampfenden Untergrunds mit einer Dicke (C) wie Rinde, Sand,
Kies oder verwenden Sie entsprechend ausgewdhlte Gummimatten, um das Verletzungsrisiko im Falle eines Sturzes zu minimieren.

Montage: Der Rahmenmontageprozess sollte gemaR den Sicherheitsvorschriften, unter Beriicksichtigung einer festen Befestigung am Boden und unter
Verwendung geeigneter Materialien durchgefiihrt werden

RegelmiBige Wartung: Uberpriifen Sie regelmiRig den Zustand des Schaukelgestells, insbesondere wenn es von Kindern benutzt wird. Stellen Sie sicher, dass
alle Komponenten unverandert stabil und sicher sind.

EN

Selecting a suitable site: Choose a place with adequate space (A,B) free of obstacles. Check that there are no branches, walls or other obstacles in the area that
may obstruct the movement of the swing.

Remove stones, branches, protrusions or other potential hazards from the area where the frame will be placed.

Grounding: The ground should be even and stable. Avoid areas with mud or unevenness that may affect the stability of the swing. The area (A,D) should have
have a layer of cushioning substrate of thickness (C) such as bark, sand, gravel or suitably sized rubber mats to minimise the risk of injury in the

in the event of a fall.

Assembly: The process of assembling the frame should be carried out in accordance with safety rules, taking into account a solid attachment to the ground and
using appropriate materials of construction materials.

Regular inspection: Periodically check the assembly condition of the swing frame, especially if it is used by children. Ensure that all components are still stable
and secure.

cz

Vybér vhodného mista: Vyberte misto s dostateénym prostorem (A,B) bez piekazek. Zkontrolujte, zda se v prostoru nenachézeji vétve, zdi nebo jiné prekazky,
které by mohly branit pohybu houpacky.

Odstrante kameny, vétve, vycnélky nebo jina potencialni nebezpeci z prostoru, kde bude rdm umistén.

Uzemnéni: Zem by méla byt rovna a stabilni. Vyhnéte se mistim s blitem nebo nerovnostmi, které by mohly ovlivnit stabilitu houpacky. Plocha (A,D) by méla mit
mit vrstvu tlumiciho podkladu o tloustce (C), jako je kira, pisek, stérk nebo vhodné dimenzované gumové rohoze, aby se minimalizovalo riziko poranéni pfiv
pripadé padu.

Montaz: Proces montaze rdmu by mél byt provadén v souladu s bezpeénostnimi pravidly, s ohledem na pevné piipevnéni k zemi a za pouziti vhodnych materialG
konstruk¢nich materiald.

Pravidelna kontrola: Pravidelné kontrolujte stav montaze houpaciho ramu, zejména pokud jej pouzivaji déti. Ujistéte se, Ze jsou viechny souéasti stéle stabilni a
bezpecné.

PL

Wybér odpowiedniego miejsca: Wybierz miejsce z odpowiednig przestrzenia (A,B) wolne od przeszkdd. Sprawdz, czy w okolicy nie ma gatezi, $cian czy innych
przeszkdd, ktére mogaq utrudniad ruch hustawki. Usui kamienie, gatezie, wystajace elementy czy inne potencjalne zagrozenia z terenu, na ktérym bedzie
umieszczony stelaz.

Podtoze: Podtoze powinno by¢ rownomierne i stabilne. Unikaj obszaréw z btotem lub nieréwnosciami, ktére mogg wptywac na stabilno$¢ hustawki. Na obszarze
(A,D) powinna sie znajdowac warstwa podtoza amortyzujgcego o grubosci (C) takiego jak: kora, piach, zwir lub odpowiednio dobrane maty gumowe, aby
zminimalizowac ryzyko obrazen w przypadku upadku.

Montaz: Proces montazu stelaza powinien by¢ przeprowadzony zgodnie z zasadami bezpieczenstwa, uwzgledniajac solidne mocowanie do podtoza i uzywajac
odpowiednich materiatoéw konstrukcyjnych.

Regularne kontrole: Okresowo sprawdzaj stan montazu stelazu hustawki, szczegélnie jesli jest ona uzywana przez dzieci. Upewnij sie, ze wszystkie elementy sa
nadal stabilne i bezpieczne.

RU

Bbi6op nogxoasauero Mecrta: Boibepnte MeCTO € 40CTaTOYHbIM MPOCTPAHCTBOM (A,B), cBo6oaHOE OT NpenaTcTBMi. Y6eanTech, YTO Ha y4acTKe HeT BETOK, CTEeH
WAV APYrvX NPenaTCTBMIN, KOTOPblE MOTYT MOMeLlaTb ABUXEHWIO Kayenien. Yoepute KaMHM, BETKK, BbICTYMbl U APYrve NOTEHUMasIbHbIe ONACHOCTU U3 30Hbl, TAe
6yaeT ycTaHOBJIeHa paMa.

3asemeHue: 3emM/1A 10J1KHA 6bITb POBHOW M YCTONYMBOW. M36eranTe y4acTKOB C rPA3bIO NN HEPOBHOCTAMM, KOTOPbIE MOTYT MOBJINATb Ha YCTOMYNBOCTb
Kavenen. Mnowaaka (A,D) AoNXKHA MMeTb

VMETb CJ10/ aMOPTU3MPYIOLLLEN NOANTOXKN TonwmMHOM (C), Tako Kak KOpa, Necok, rpaBuii nav noaxoasLime no pasmepy pe3nHoBble KOBPUKK, YTOBbI CBECTH K
MWHUMYMY PUCK MOJIy4E€HNA TPaBMbl B CJlyHae NafeHums.

C6opka: MNpouecc c6opkn KapKaca LO/IKEH OCYLLECTBAATLCA B COOTBETCTBUM C NPpaBuiamMmn 6€30MacHOCTH, C Y4ETOM HaLEXHOMO KPEMNIEHNA K 3eMIE U C
NCNob30BaHNEM COOTBETCTBYIOLLMX CTPOUTE/IbHBIX MAaTEPMAJIOB.

PerynsapHbiit ocMOTP: Meproanyeckn nposepanTe coctoaHne c6opku Kapkaca Kayesen, 0CO6eHHO eC/iv OH UCMOoMb3yeTcA AeTbMU. YbeanTech, 4To Bce
KOMMOHEHTbI NO-NPEXHEMY YCTONYMBbI M HAAEXHbI.

FR

Choix d'un emplacement approprié: Choisissez un endroit suffisamment spacieux (A,B) et exempt d'obstacles. Vérifiez qu'il n'y a pas de branches, de murs ou
d'autres obstacles dans la zone qui pourraient géner le mouvement de la balancoire.

Enlevez les pierres, les branches, les saillies et autres dangers potentiels de la zone ou le cadre sera placé.

Mise a la terre : Le sol doit étre plat et stable. Evitez les zones boueuses ou irréguliéres qui pourraient nuire 3 la stabilité de la balancoire. La zone (A,D) doit
avoir une couche de substrat amortissant d'épaisseur (C) comme de ['écorce, du sable, du gravier ou des tapis en caoutchouc de taille appropriée afin de
minimiser le risque de blessure en cas de chute.

Assemblage : Le montage du cadre doit étre effectué conformément aux régles de sécurité, en tenant compte de la solidité de la Fixation au sol et en utilisant
des matériaux de construction appropriés matériaux de construction.

Inspection réguliére :

Vérifiez périodiquement |'état de montage du cadre de la balancoire, surtout s'il est utilisé par des enfants. Assurez-vous que tous les composants sont encore
stables et srs.



Avertismente / Avvertenze / Advertencias / Waarschuwingen /

Figyelmeztetések / Upozornenia / Varningar

RO

Selectarea unui loc adecvat: Alegeti un loc cu spatiu adecvat (A,B), fara obstacole. Verificati dacd in zond nu exista ramuri, pereti sau alte obstacole care ar
putea impiedica miscarea balansoarului. Indepartati pietrele, ramurile, proeminentele sau alte pericole potentiale din zona in care va fi amplasat cadrul.

Sol: Solul trebuie sa fie uniform si stabil. Evitati zonele cu noroi sau denivelari care pot afecta stabilitatea balansoarului. Zona (A,D) trebuie sa aiba un strat de
substrat de amortizare de grosime (C), cum ar fi scoarta, nisip, pietris sau covorase de cauciuc de dimensiuni adecvate, pentru a minimiza riscul de ranire in cazul
unei cazaturi.

Asamblare: Procesul de asamblare a cadrului trebuie efectuat in conformitate cu normele de siguranta, tindnd cont de fixarea solida la sol si utilizand materiale
de constructie adecvate.

Verificari periodice: Verificati periodic starea de asamblare a cadrului de leagan, mai ales daca acesta este utilizat de copii. Asigurati-vé cd toate componentele
sunt inca stabile si sigure.

IT

Selezione di un sito adatto: Scegliere un luogo con uno spazio adeguato (A,B) e privo di ostacoli. Verificare che nell'area non vi siano rami, muri o altri ostacoli
che possano impedire il movimento dell'altalena. Rimuovere pietre, rami, sporgenze o altri potenziali pericoli dall'area in cui verra collocato il telaio.

Terreno: il terreno deve essere uniforme e stabile. Evitare aree con fango o irregolarita che potrebbero compromettere la stabilita dell'altalena. L'area (A,D)
deve avere uno strato di substrato ammortizzante di spessore (C) come corteccia, sabbia, ghiaia o tappeti di gomma di dimensioni adeguate per ridurre al minimo
il rischio di lesioni in caso di caduta.

Montaggio: il processo di montaggio del telaio deve essere eseguito in conformita alle norme di sicurezza, tenendo conto del solido fissaggio al suolo e
utilizzando materiali da costruzione adeguati.

Controlli periodici: verificare periodicamente le condizioni di montaggio del telaio dell'altalena, soprattutto se viene utilizzato dai bambini. Assicurarsi che tuttii
componenti siano ancora stabili e sicuri.

ES

Seleccion de un lugar adecuado: Elija un lugar con espacio adecuado (A,B) libre de obstaculos. Compruebe que no haya ramas, muros u otros obstaculos en la
zona que puedan impedir el movimiento del columpio. Retire piedras, ramas, salientes u otros peligros potenciales de la zona donde se colocara la estructura.
Suelo: El suelo debe ser llano y estable. Evite zonas con barro o desniveles que puedan afectar a la estabilidad del columpio. La zona (A,D) debe tener una capa
de sustrato amortiguador de grosor (C) como corteza, arena, grava o alfombrillas de goma de tamafio adecuado para minimizar el riesgo de lesiones en caso de
caida.

Montaje: El proceso de montaje del armazén debe realizarse de acuerdo con las normas de seguridad, teniendo en cuenta la fijacién sélida al suelo y utilizando
materiales de construccién adecuados.

Comprobaciones periédicas: Compruebe periédicamente el estado de montaje del armazén del columpio, especialmente si lo utilizan nifios. AsegUrese de que
todos los componentes siguen siendo estables y seguros.

NL

Een geschikte plaats kiezen: Kies een plek met voldoende ruimte (A,B) vrij van obstakels. Controleer of er geen takken, muren of andere obstakels in de buurt
zijn die de beweging van de schommel kunnen belemmeren. Verwijder stenen, takken, uitsteeksels of andere potentiéle gevaren uit het gebied waar het frame
wordt geplaatst.

Grond: De grond moet vlak en stabiel zijn. Vermijd gebieden met modder of oneffenheden die de stabiliteit van de schommel kunnen beinvloeden. Het gebied
(A,D) moet een laag dempende ondergrond van dikte (C) hebben, zoals boomschors, zand, grind of rubberen matten van geschikte grootte om het risico op
letsel bij een val te minimaliseren.

Montage: Het montageproces van het frame moet worden uitgevoerd volgens de veiligheidsregels, rekening houdend met de stevige bevestiging aan de grond
en met gebruik van geschikte constructiematerialen.

Regelmatige controles: Controleer regelmatig de montagetoestand van het schommelframe, vooral als het door kinderen wordt gebruikt. Controleer of alle
onderdelen nog stabiel en stevig zijn.

HU

Megfelelé helyszin kivalasztasa: Valasszon egy megfelels, akadalyoktol mentes helyet (A,B). Ellendrizze, hogy a teriileten nincsenek-e olyan agak, falak vagy
egyéb akadalyok, amelyek akadalyozhatjék a hinta mozgasat. Tavolitsa el a koveket, agakat, kiallé részeket vagy mas potencidlis veszélyforrasokat a teriiletrél,
ahol a keretet elhelyezi.

Talaj: A talajnak egyenletesnek és stabilnak kell lennie. Kerdilje a saros vagy egyenetlen terileteket, amelyek befolyasolhatjik a hinta stabilitasat. A teriletnek
(A,D) rendelkeznie kell egy vastagsagu (C) parnazé aljzatréteggel, példaul fakéreggel, homokkal, kaviccsal vagy megfelelé méretl gumiszényeggel, hogy esés
esetén minimalisra csokkentse a sériilésveszélyt.

Osszeszerelés: A keret 6sszeszerelési folyamatat a biztonsagi szabalyoknak megfeleléen kell elvégezni, figyelembe véve a talajhoz vald szilard rogzitést és a
megfelelé épitéanyagok felhasznalasat.

Rendszeres ellenérzések: Rendszeresen ellenérizze a hintakeret dsszeszerelési allapotat, kiildndsen, ha gyermekek hasznaljék. Gybz8djén meg arrél, hogy
minden alkatrész még mindig stabil és biztonsagos.

SK

Vyber vhodného miesta: Vyberte miesto s dostatoénym priestorom (A,B) bez prekazok. Skontrolujte, ¢i sa v priestore nenachadzaji konére, steny alebo iné
prekazky, ktoré by mohli branit pohybu hojdacky. Odstrante kamene, konére, vycnelky alebo iné potencidlne nebezpecenstva z oblasti, kde bude ram
umiestneny.

Podklad: Podklad by mal byt rovny a stabilny. Vyhnite sa oblastiam s blatom alebo nerovnostami, ktoré mézu ovplyvnit stabilitu hojdac¢ky. Plocha (A,D) by mala
mat vrstvu tlmiaceho substratu s hrabkou (C), ako je kéra, piesok, strk alebo vhodne velké gumové rohoze, aby sa minimalizovalo riziko zranenia v pripade padu.
Montaz: Proces montéze rdmu by sa mal vykonavat v silade s bezpeénostnymi predpismi, pricom sa musi zohladnit pevné upevnenie k zemi a pouzit vhodné
konstruk¢né materialy.

Pravidelné kontroly: Pravidelne kontrolujte stav montaze hojdacieho ramu, najma ak ho pouZivaju deti. Uistite sa, Ze véetky komponenty st stéle stabilné a
bezpecné.

SE

Vilja en lamplig plats: Vilj en plats med tillrackligt utrymme (A,B) som &r fri fran hinder. Kontrollera att det inte finns ndgra grenar, vaggar eller andra hinder i
omradet som kan hindra gungans rérelse. Ta bort stenar, grenar, utskjutande delar eller andra potentiella faror fran omradet dar ramen ska placeras.

Mark: Marken ska vara jamn och stabil. Undvik omraden med lera eller ojamnheter som kan paverka gungans stabilitet. Omradet (A,D) bér ha ett lager av
dampande underlag av tjocklek (C), t.ex. bark, sand, grus eller gummimattor av ldmplig storlek, fér att minimera risken f6r skador vid fall.

Montering: Monteringsprocessen av ramen ska utféras i enlighet med sdkerhetsreglerna, med hansyn till den fasta férankringen i marken och med anvandning
av lampliga byggmaterial.

Regelbundna kontroller: Kontrollera regelbundet gungramens monteringsskick, sarskilt om den anvands av barn. Se till att alla komponenter fortfarande ar
stabila och sdkra.

10



PL Kotwiczenie do podtoza

EN Anchoring to the ground

DE Verankerungim Boden

FR Ancrage au sol

RO Ancorarea la sol

IT Ancoraggio al suolo

ES Ankurdamine maapinna kiilge

A-700 cm

NL Verankering aan de grond
HU Horgonyzas a talajhoz

RU KpenneHue Kk 3emne

CZ Ukotveni k zemi

SK Ukotvenie k zemi

SV Foérankring i marken

B-290 cm
D-210 cm

2181

1724

min. L-600mm\

min. D14x180

min. D12x1000

\

C16/20

min. 20cm x 20cm x 60cm

11




